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Note : Attempt all
instructions.
Are ;. w3ft @usi @ IR & oifoe|
Section-A / @Us-H
(Very Short Answer Questions)
(31fdY o1y 3wl W)
Note . Attempt any two questions. Each
question carries 712 marks. 7¥2x2=15
Al 5 Al I $ 3R AR s v 7%
37 @1 2l
1. Define Square Matrix with
e example.
d“?’a&gaﬁwﬁﬁmmﬁ%ﬁréﬁm
2. I'L'"'fl"tia the formulae of thE‘ ﬁ}HDWIﬂg“
- doiaa & §x )
Let f(x) and Q(X) be two lencthHS- Then :

fiT:!TﬁSf(x}Fl‘-lng(x) asftﬁaqgaﬁ:
P.T.O.

dff(x).g(X)r=
(@), %x- (x)+g(x)}
by ax {9

HIfse i -+ 3)

3. Evaluaté (s ) }Icl_r!}' (x
Find the equation of the circle whose
centre is (2,3) and radius is 5-

mqﬁmaﬁaﬂmmﬁaﬁﬁu%{ﬂﬂﬂﬁmm

arorr a1 5 &1 | '
Find the Transpose of the matriX A, :fuﬁ

ﬁwmAmqﬁﬁm@gﬁﬁﬁ%ﬁﬂ:

5 6
A=} 1 -4

3 2

Section-B /@EUs-9
(Short Answer Questions)
(erg IO W)
Attempt any one question. FEach
question carries 15 marks. 15x1=15
Ae: 5 vd 93T & IR AT TIPS weT 15
3it &I 2
Find the value of k if the points (—-3,12),
(7,6) and (k, 9) are collinear.
k & foou 7= & fowe fag (-3,12), (7,6) 3R
(k, 9) TG &

7. Show that f(x) = |x| is continuous at x=0
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Note :



e B F(X) = ||, =0 @ FLE
8. If (af) g:lE 3 B:lz 4\
| E

4 5
then find AB and pa. Also show that AB #
BA. .
a9 AB 9T BA strq 9YfS1e o frargd o
AB = BA.
Section-C/@vs-4 :
(Detailed Answer Questions)
N (e 3eta weeh)
ote : Attempt any two questions. Each
question carries 22V2 marks.

Me: oS A g B R ABE GRS we

22 3l BT 8| 2212 %x2=45
9. (@) Prove that (frg @)
1 w w?
w w 1]|=0
w> 1l w
(b) If (@R) A=B ; ‘;\

| 1 -3 2
Then find(2B-3A)

A1 (2B-3A) & 9 s el
10. Evaluate ST BSE-

and (3i%) ¢.=l2 4 6\

(a) f’can2 X dx

(b) fl x* dx
112?4((:\;-111)!3 0

P.T.O.

(c)

fxsinxdx

11. FEjnd the differentiation with respect to 'x’
1ot 2 ATAET TAHETA ST B!

12.

13.

(a)
(a)

(b)

(a)

(b)

x2sin X (b) x3+4){2+2}(+1

Find the equation of th€ tangent
to the circle x2+4+y2=25 at the point
(3,4).

farg (3.4) TR T x2+y2=25 T et Xan
1 GHIBIOT TG DT

Find the point of intersection
lines 3x+y-7= 0 and x+2y—9
and the angle between them.
YeaEi 3x+y-7= 0 3iK x+2y-9 = 0
&7 wferase fawg 3k 97 &g &7 DIVT ST
Gaiciled! -

Find the co-ordinates of the point
which divides the line segment
joining the points (3,5) and (7,9) in
the ratio 2 : 3 internally.

3 fag & Feries sy adifsTe s fargadt
(3.5) @7 (7,9) P e arcil & B
o : 3 3 T H 3Fq: fawTeT B T
Find the equation of a circle whose
diameter is line joining two points
(0,4) and (4,0).

=T & R & FSenis (0.4) T (4,0) &1

of the
= 0
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